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1/ A company sends out ten different questionnaires to its customers. For
The table shows the number sent and replies received for each questionnaire. Examiner's
Use
Questionnaire A B C D E F G H I J

Number sent out 100 | 125 | 150 | 140 | 70 | 105 | 100 | 90 | 120 | 130

Number of replies | 24 | 30 | 35 | 34 | 15 | 25 | 22 | 21 | 30 | 31

Number of replies

: : i T i i .  — T i T T >
g 1020 30 40 50 60 70 80 90 100 110 120 130 140 150
Number sent out

(a) Complete the scatter diagram for these results.
The first two points have been plotted for you. [2]

(b) Describe the correlation between the two sets of data.
Answer(b)

(¢) Draw the line of best fit. [1]
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For
Examiner’s

Use

The table shows the average temperature and the number of ice-creams sold each month.
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(i) Complete the scatter diagram for the months August to December.
The points for January to July are plotted for you.
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(i) What type of correlation does the scatter diagram show?

(1]

Answer(c)(i1)

-creams sold to the average monthly

(iii) Write down a statement connecting the number of ice

temperature.

(1]

ssssazas

Answer(c)(iii)
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03 14 children played a game. For
The age of each child and the number of points they scored are plotted on the scatter diagram. Examiner's
Use
P
e S SRS HEES SSS S S S
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Age of child

(a) Write down the number of points the child aged 11 scored.

ANSWEr(Q) —......oveerevsrerrensrsesesssssssssns (1]
(b) Draw a line of best fit on the scatter diagram. [1]
(¢) What type of correlation is shown?

(R (1]
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O 4 The table shows the marks for ten students in their Chemistry papers for Unit A and Unit B. For

Examiner's
Use

Unit A 32 | 78 45 | 63 |36 | 1| 58| 41|68 54

Unit B 43 | 81 | 49 | 58 | 40 | 74 | 60 | 50 | 72 | 59

(@) On the grid, complete the scatter diagram for these results.
The first six points have been plotted for you.

A

90

80—

70 R

UnitB 60

50—+

30
Unit A
(2]
(b) What type of correlation does the scatter diagram show?
ANSWEr(B) —....ouvererrersvesesesserssssenns (1]

Mob: +874 55373670 / 33787500
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11
() (i) Calculate the mean of the marks for Unit A. For
Examiner's
Use
1)
Answer(c)(i) | .eieeneneceneisenn (2]
(i) Work out the range of the marks for Unit A.
Answer(c)(il) . ....oeeeereerreessrenn (1]
(iii) The mean for Unit B is 58.6.
Which unit did the students find more difficult?
Give a reason for your answer.
Answer(c)(iii) Unit ... DECAUSE | eereeeereereeeeses s e seeeseessee s
............................................................................................... (1]
(d) (i) Draw a line of best fit on the grid. [1]
(i) Lee scored 48 on Unit A but she was absent for Unit B.
Use your line of best fit to estimate her score on Unit B.
Answer(d)(ii) | ...oviveirrerinesennn (1]
(e) Find how many students scored more than 65 marks on both units.
Answer(e) —......oveveeeeesrrereenenn. (1]

© UCLES 2012 0580/33/M/J/12 [Turn over




05 ®

Complete the scatter diagram.
The first six points have been plotted for you.

For
Examiner's
Use

Time
(seconds)
30
10 20 30 40 50 60 70
Age (years)
(2]
(i) What type of correlation does the scatter diagram show?
Answer(d)(ii) ...ccooovviiiiciiiieeeee. [1]
(iii) Draw a line of best fit on the scatter diagram. [1]
(iv)  Would it be sensible to use your line of best fit to estimate the time taken by a child aged 8 to
solve the puzzle?
Explain your answer.
Answer(d)(iv) .....cooceuven... DECAUSE ...cocvcurierrrnrrrrrnssasesssnsesensasssessenscsensssssssssssssssosssssasesesensssens
........................................................................................................................................... [1]
© UCLES 2013 0580/32/0/N/13 [Turn over




Solve the equation.
2x+5 _

ARSWEF X = ...t seerevenssessssesens [3]

0 6 The scatter diagram shows the heights and masses of some five-year-old boys.

\
30

2540

Mass T
(ke) 20

Mob: +374 55373670 / 33787500
E-malI:chymrc.muhammad@gma!I.com
pE

159

90 95 100 105 110 115 120 125 130 135
Height (cm)

(a) The height of one of the boys is likely to have been recorded incorrectly.
Write down the mass of this boy.

ANSWer(@) .........ccooovvecimeieee, kg [1]

(b) What type of correlation does the scatter diagram show?

AnSWer(b) .....ccoooeeivieiiieeeeeeeeen 1M
(¢) (i) Draw a line of best fit on the scatter diagram. [1]
(i) Another boy had a height of 108 ¢cm.,
His mass was not recorded.
Use your line of best fit to estimate the boy’s mass.
ANSWer(C)(i1) wovcorniviiiiiiicioeeeeeceessa, kg [1]

© UCLES 2014 0580/13/0/N/14 [Turn over




17 The scatter diagram shows the results of height plotted against shoe size for 8 people.

A
200_. ......................

Height | bt o
(cm)
Shoe size
(a) Four more results are recorded.
- Shoe size 28 31 38 43
Height (cm) 132 156 168 198
Plot these 4 results on the scatter diagram. [2]
(b) Draw a line of best fit on the scatter diagram. [1]
(c) What type of correlation is shown by the scatter diagram?
ANSWEF(C) oo [1]

Mob: +374 55373670/ 33787500
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U8 The scatter diagram shows the rainfall and the average temperature in a city for the month of June,
over a period of 10 years.

30

25+

20 i o

Temperature (°C)
15—

10

Rainfall (cm)

(a) What type of correlation does this scatter diagram show?

ANSWEr(Q) ... [

(b) Describe the relationship between the rainfall and the average temperature.

Mob: +874 55373670 / 32787500
E-mali:chymrc.muhammad@gmall.com
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9  The scatter diagram shows the number of sun hats and ice creams sold by a shop each day for two weeks.

s A
L B e Mmoo ] Kommmmmeeeon
----------- N
R e e SO SO SR
Numberof |- S— T N— e :
ice creams  20—----------- e L GETEE T e R 4
sold . S S A A J
do oo A S
0 x X s s z |
__X).(,_ L 1\,. :
0 l | I 1 f >
0 2 4 6 8 10 12
Number of sun hats sold
(a) Write down the type of correlation shown by the diagram.
. ARSWEF(Q) oo [1]

(b) Describe the relationship between the number of sun hats sold and the number of ice creams sold.

AHSWEF(D wivssscossi ssswamnsssininsyesassnsssresesmpresse swpssnssn 5s5tsess s 43swss 8545455 50mems 1 24 mesmEEe S £ AT S SR P S f A At

10 Simplify.
6uw™ x 4uw®

Mob: +074 55373670 / 33787500
E-mail:chymre.mubhammad@gmall.com
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The scatter diagram shows the speaking test scores and the writing test scores for 15 students.

'

10

Writing
test score

i i U

0 5 10 I5 20
Speaking test score

(a) One student’s writing test score was much better than their speaking test score.

Draw a ring around this point on the scatter diagram. [1]

(b) What type of correlation is shown on the scatter diagram?

................................................. [1]
(¢) Draw a line of best fit on the scatter diagram. [1]
(d) One student’s scores were not recorded on the scatter diagram.
His writing test score was 10.
Use your line of best fit to estimate his speaking test score.
................................................. [1]

Mob: +974 55373670 / 33787500
E-mall:chymre.muhasmmad@imall.com
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1 2 Six students revise for a test.
‘ The scatter diagram shows the time, in hours, each student spent revising and their mark in the test.

50

Mob: +974 55373670 / 33787500
E-malt:chymrc. muhammad@gmall.com

Mark

Time (hours)

(a) The data for two more students is shown in the table.

Time (hours) 4.5 6.5
Mark 33 35
Plot these two points on the scatter diagram. [1]

(b) What type of correlation is shown on the scatter diagram?

.............................................. (1]
(¢) Draw a line of best fit on the scatter diagram. [1]
(d) Another student spent 5.5 hours revising.
Estimate a mark for this student.
.............................................. [1]

© UCLES 2017 0580/11/M/3/17 [Turn over




1 3 Ten students estimate the length and width of their rectangular school hall.
The results are shown in the table.

Student

Length (m) 45 26

Width (m) 23 305 28 30 12 23 22 31 35 18

The first 8 results have been plotted on the scatter diagram.

A
40-
351
30
25
Width(m) 20
151
101
5 ot
-
Length(m)
(a) On the scatter diagram, plot the results for students I and J. [1]
(b) What type of correlation is shown by this scatter diagram?
................................................. (1]
(¢) (i) On the scatter diagram, draw a line of best fit. [1]
(ii) Another student, Pcdro, cstimates the length of the hall as 31 m.
His result for the width is missing.
Use your line of best fit to estimate his result for the width.
............................................ m[1]
© UCLES 2017 0580/32/F/M/17




(d) The actual measurements of the hall are length 44 m and width 34 m.

NOT TO
SCALE

34m

44m

(i) The teacher says a ‘good estimator’ has both estimates no more than 5m from the actual
measurements.

Write down the letters of the students who are “good estimators’.

................................................. (2]

(i) Work out the perimeter of the hall.
............................................ m[1]

(iii) Calculate the length of a diagonal of the hall.
............................................ m (2]

(¢) The hall is divided into two areas.
-—]l6m—
. NOT TO
SCALE
34m
44m
Find the shaded area.

.......................................... m? [2]

© UCLES 2017 0580/32/F/M/17 [Turn over




] 4 The scatter diagram shows the prices of houses for sale and their distances from the city centre.

A
600 3 (
550
500
450
E-m?\?th;:z:iﬁ?giimlié;ﬂggzom 400 T
ouse
(thousands of 350 -
dollars)
300+
2504
200+
150+
100+ i e ;
0 2 4 6 8 10 12 14 16 18 20
Distance from the city centre (km)
(@) What type of correlation is shown in this scatter diagram?
................................................... [1]
(b) Brad wants to live as close to the city centre as possible.
He has a maximum of $500 000 to spend on one of these houses.
How close to the city centre can he live?
............................................ km [1]
(¢) () Draw a line of best fit on the scatter diagram. [1]
(i) Estimate the price of a house that s 14km from the city centre.
S e, [1]

© UCLES 2016 0580/11/M/1/16 [Turn over




1 5 Bataar is comparing the engine size of a car with the distance it travels on one gallon of fuel.
= The results for 12 cars are recorded in the table.

1700 | 2000 | 2200 | 1900
84 58 73 75

. Engine size (cm?) 2 | 18&0 5, 2399 1

Distance (km)

(@) (i) Complete the scatter diagram.
The first 8 points have been plotted for you.

4
100
90
- 80
El
=
Q
;% 70
A
60
40 I . Fi} Rl B e -
1600 1700 1800 1900 2000 2100 2200 2300 2400
Engine size (cm?)
(2]
(i) On the scatter diagram, draw a line of best fit. [1]
(iii) What type of correlation is shown on the scatter diagram?
Answer(@) (1) oo, [1]

© UCLES 2015 0580/33/0/N/15




(b) Bataar has recorded an incorrect distance in his table.

(i) Write down the distance that is most likely to be incorrect.

Answer(b)(1) .o.ooveeeeeeieeecoeeeeeeea km [1]
(i) Use your scatter diagram to estimate the correct distance for this car.
Answer(b)(11) ..oovoovvveviiiieeioeeeeeeee km [1]

© UCLES 2015 0580/33/0/N/15 [Turn over




16

12 athletes took part in the 100 metres race.

table.

11 of these athletes also took part in the long Jjump.
The times and distances, each measured correct to 3 si

gnificant figures, for these athletes are shown in the
Athlete J K L
100 m time (seconds) 12.7 | 11.8 [11.1
Long jump (metres) . 2 570 6.85] 6.70
(a) The scatter diagram shows the times and distances for athletes B to H.
(i) Plot the times and distances for athletes I, J. K and L.
\ QQP‘RANGED
4
8L e e AT
“é‘:
&
- N
A
. £ C‘xg :
BB
42367 .3378750D. ...
Abatiodir ot
T~
Long jump
(metres)

1.5

12.5
100m time (seconds)
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(i)  On the scatter diagram. draw a line of best fit. [1

(iii) Athlete A did not take part in the long jump.

Use your line of best fit to estimate a long jump distance for athlete A.
Answer(a)(1i1) .o.ooeeeeieeeeeeeeeeee m [1]
(iv)  What type of correlation is shown on the scatter diagram?
AnSWer(a)(iV) woceceveeeeeeeeeeeeeeeeeeeseseeeee [1]
(v) Describe in words the relationship between the time for 100 metres and the distance in the long
jump.
ABSWEP(A)(V) oot
..................................................................................................................................................... [1]
= (b) Use the table of times and distances to work out
(i) the mean of the 100 metres times,
Answer(b)(i) .occccvvecniniiiiieee s [2]
(i) the percentage of athletes who ran 100 metres in less than 11.5 seconds,
Answer(B)(11) wocvooevueeiieieieeeeeeeee e % [2]
(iii) the range of the distances jumped by the 11 athletes, B to L.
Answer(b)(Tii) .oooovveveiiiieeeeeeeeeeee, m [1]

© UCLES 2014 0580/31/0/N/14 [Turn over




17 Amir looks at adverts for the same model of car.
The scatter diagram shows the age and price of each car.

A
14000 : i i3 N MERERNEE AN
X
12000 -4 ii >< -+
L= i : Mﬁﬁf‘*ﬂ; 55373670 1 33787500
ﬁfillféﬁyiiilb.muhammad@gmall.com
10000 -
8000 —
. Price (%)
6000 i
4000 —-+-
2000
0 : i | 1 i >
2 4 6 8 10
Age (years)
(a) What type of correlation is shown on the scatter diagram?
ANSWer(Q) .....coovveiiriiercieeireieen, [1]
(b) Draw a line of best fit on the scatter diagram. [1]
(¢) Use your line of best fit to estimate the price of a car that is § years old.
AnSWer(c) $ oo [1]

© UCLES 2015 0580/11/0/N/15
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ly (a) The table shows the results of a survey in a village.
Tt shows the number of males and females who are left-handed, right-handed or ambidextrous.

Left-handed Right-handed | Ambidextrous Total
Male 17 5 84
Female 21 102 3 126
Total 38 164 8 210
(i) Complete the table by finding the number of males in the survey who are right-handed. [1]
(ii) Using these results, write down the probability that
(a) amale chosen at random is left-handed,
................................................. [1]
(b) a left-handed person chosen at random is female,
................................................. (1]
(¢) aperson chosen at random is right-handed.
................................................. (1]
(iii) Here are the ages of the people who are ambidextrous.
27 79 31 16 60 45 42 52
Find the median age of these people.
................................................. [2]

(b) This table shows the results of another survey.
It shows the number of people in each of 50 households.

Aob: 4874 S5373670/ 33787500
E-mall:chymrc.muhammad@gmall.com

Number of people Frequency
1 5
2 8
3 12
4 14
5 7
6 4

Work out the mean number of people in each household.

© UCLES 2017 0580/32/M/J/17




7

(¢) Some students in the village school were given a multiplication test and a spelling test.
The scores are shown in the table.

Spelling test
score 55 | 38 | 42 | 48
Multiplication
test score 34 | 23 | 28 | 31
A
404-
30+
Multiplication
test score 20+
10
0 o : :l : ‘ 1 ; = - . Ll L} :: .
0 10 20 30 40 50 60

(@

(i)

(iii)

@iv)
49

© UCLES 2017

Spelling test score

Complete the scatter diagram.
The first ten points have been plotted for you. (2]

One student has a high score in the multiplication test and a low score in the spelling test.
On the scatter diagram, put a ring around this point. [1]

What type of correlation is shown in this scatter diagram?

................................................. [1]
On the scatter diagram, draw a line of best fit. [1]
Another student, Kim, scored 45 in the spelling test but was absent for the multiplication test.
Use your line of best fit to estimate a score for Kim in the multiplication test.
................................................. [1]
0380/32/MA/17 [Turn over




2V

9
The table shows the total goals scored and the total points gained by 10 teams.

G H I J
60 84 68 87
Points 59 70 61 75
(i) Complete the scatter diagram.
The first six points have been plotted for you. [2]
A
80
. 70 5 GE%C,
- <7\5‘
i :1‘0,,
s b T ‘ g
60 - S
: S,
. S es
POlntS 2493670 1 33787500
hs d@gmail.com
50+
40+
30 PR -
30 40 50 60 70 80 90 100
Goals
(i) Draw the line of best fit. [1]
(iii) What type of correlation is shown?
ARSWer(C)(Iii) wooomveniiieiieeeeeeeeeeseeee, [1]
(iv) Use your line of best fit to estimate the total points gained by a team scoring 75 goals.
AnSWer(C)(1V) ...coceveeeiieiieeeeeeeeeeeren, [1]
(V) Which team only scores a few goals but gains a lot of points?
ANSWEF(C)(V) oo [1]
© UCLES 2014 0580/32/M/1/14
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Ten bove go swimming.
The teacher records, in seconds, the time each boy takes to

*  get ready for swimming
* swim one length.

Mob: +374 55373670/ 33787500
E-mnll:chymrc.muhammad@gmall.com

These times are shown in the table below.

Boy Y . [ a J
Time to get ready 310 | 250 | 360 | 245 | 440 | 415 | 290 @ 420 | 480 | 400
Time to swim one length | 29 17 19 | 36 + 38 16 40 32 20 30

() A boy is chosen at random.
Find the probability that he takes more than 300 seconds to get ready.
ANRSWer(B)(1) veveveeeiiiiieiieeeeeeeeeeeeeee [1]

(i) Complete the scatter diagram.
The first six points have been plotted for you.

'}

Time to swim one
length (seconds)

......

i 100 200 300 400 500
Time to get ready (seconds)
(2]
(iii) Another boy takes 340 seconds to get ready.
Can the scatter diagram be used to estimate the time it will take him to swim one length?
Give a reason for your answer.
Answer(b)(1i1)....c..cccvevrevennen... DECAUSE ...
...................................................................................................................................................... [1]

© UCLES 2015 0580/32/0/N/15 [Turn over
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Time for

100 m hurdles
(seconds)

Complete the scatter diagram.
The first six points have been plotted for you.

17.0 A

Mob: +374 55373670 / 33787500
E-mail:chymrc.muhammad@gmalt.com

(i)

(iii)

@iv)
™)

(vi)

J . O H H | ' H H H ' : H : : I H 3 H H I H ! : H .

3.0 3.5 4.0 4.5 5.0 5.5
Distance in long jump (metres)
(2]
What type of correlation does this scatter diagram show?
Answer(b)(11) .oooovvveiiiiiiiiieeeeee, [1]

Describe the relationship between the distance in the long jump and the time for the 100 m hurdles.
ARSWEP(B)(T11) oo e [1]
On the grid, draw the line of best fit. [1]
Another student jumps 3.50 m in the long jump.

Use your line of best fit to estimate the time for this student in the 100 m hurdles.

Answer(b)(V) oo s [1]
A different student jumps 5.20 m in the long jump.

Explain why you should not use your scatter diagram to estimate their time in the 100 m hurdles.

ANSWET(D)(VI) oot e e [1]

© UCLES 2014
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L Write in figures the number nine million eighty two thousand five hundred and seven.
.................................................. [1]
2 Write 71496 correct to 2 significant figures.
.................................................. [1]
3 Find the cube root of 4913.
.................................................. [1]
4
/
.
X
X
X
X
X
X
X
X
What type of correlation is shown by the scatter diagram?
T [1]
S Calculate. 17.85 — 7.96
18 —3.52
.................................................. [1]

© UCLES 2016
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1 Adoctor starts work at 2040 and finishes work at 06 10 the next day.

How long is the doctor at work?
Give your answer in hours and minutes.

Answer ..o h o, min [1]
2 Write 53400000 in standard form.
ANSWEr oo, [1]
3 Write down the gradient of the line y=-3x + 4.
ANSWET .o, [1]
4  Simplify 5x°
ANSWer ..o, [1]
5
y
4
X
X X
X
X
X X
X
0 - X
What type of correlation is shown on the scatter diagram?
ANSWET (oo, [1]

© UCLES 2015 0580/12/M/1/15
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